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1. Consider the efficiency of carnot’s engine is given by 
x

log e
sin kT

 
 


, where  and  are constants. If T is

temperature, k is Boltzmann constant,  is angular displacement and x has the dimensions of length. Then,

choose the incorrect option :

(1) Dimensions of  is same as that of force

(2) Dimensions of –1x is same as that of energy

(3) Dimensions of –1 sin  is same as that of 

(4) Dimensions of  is same as that of 

ekuk fdlh dkuksZ batu dh n{krk fuEuor nh gqbZ gS]
x

log e
sin kT

 
 


 tgk¡  ,oa  fLFkjkad gSaA ;fn T rkieku gS] k

cksYVteSu fLFkjkad gS]  dks.kh; foLFkkiu gS] ,oa x yEckbZ dh foek,¡ j[krk gSA rks xyr fodYi pqfu, %

(1)  dh foek,¡] cy d foekvksa ds leku gSaA

(2) –1x dh foek,¡ ÅtkZ dh foekvksa ds leku gSaA

(3)  –1 sin  dh foek,¡ dh foekvkas ds leku gSaA

(4)  dh foek,¡] dh foekvksa ds leku gSaA

Question ID : 15477154521

Ans. Official Answer NTA (4)

Sol.

2. At time t = 0 a particle starts travelling from a height 7 ẑ  cm in a plane keeping z coordinate constant. At any

instant of time it’s position along the x̂  and ŷ  directions are defined as 3t and 5t3 respectively. AtAt

t = 0s acceleration of the particle will be :

le; t = 0 ij dksbZ d.k 7 ẑ  cm dh Å¡pkbZ ls ,d ry es fLFkj z ds lkFk pyuk izkjEHk djrk gSsA fdlh {k.k ij] x̂  ,oa

ŷ fn'kkvksa ds vuqfn'k bldh fLFkfr Øe'k% 3t ,oa 5t3 }kjk ifjHkkf"kr gSA le; t = 1s ij] d.k ds Roj.k dk eku gkssxk

(1) –30 ŷ

(2) 30 ŷ

(3) ˆ ˆ3x 15y

(4) ˆ ˆ ˆ3x 15y 7z 

Question ID : 15477154522

Ans. Official Answer NTA (2)

Sol.
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3. A pressure-pump has horizontal tube of cross sectional area 10 cm2 for the outflow of water at a speed of 20

m/s. The force exerted on the vertical wall just in front of the tube which stops water horizontally flowing out of

the tube, is :

[Given : density of water = 1000 kg/m3]

fdlh izs'kj iEi eas 10 cm2 vuqizLFk dkV {ks=kQy okyh {kSfrt uyh ls ikuh 20 m/s dh pky ls ckgj fudyrk gSA rks uyh

ds ckgj {kSfrt :i ls cg jgs ikuh }kjk] uyh ds lkeus fLFkr ,d Å/okZ/kj nhokj ij vkjksfir cy dk eku gS %

[fn;k gS] ty dk ?kuRo = 1000 kg/m3]

(1) 300 N

(2) 500 N

(3) 250 N

(4) 400 N

Question ID : 15477154523

Ans. Official Answer NTA (4)

Sol.

4. A uniform metal chain of mass m and  length ‘L’ passes over a massless and frictionless pulley. It is released

from rest with a part of its length ‘l’ is hanging on one side and rest of its length ‘L – l’ is hanging on the other

side of the pully. At a certain point of time, when 
L

x
 , the acceleration of the chain is 

g

2
. The value of x is

__________.

m nzO;eku ,oa ‘L’ yEckbZ dh dksbZ ,dleku /kkfRod tathj] fdlh nzO;eku jfgr ,oa ?k"kZ.k jfgr f?kjuh ds Åij ls

gksdj xqtj jgh gSA tc bldh yEckbZ dks ‘l ’ Hkkx] f?kjuh ds ,d rjQ ,oa ckdh ‘L – l’ Hkkx nwljh rjQ yVd jgk gS] rks

bls fxjus ds fy, Lora=k NksM fn;k tkrk gSA fdlh {k.k ij] tc L

x
  gS, rks tathj dk Roj.k 

g

2
 gSA x dk eku

__________gksxk

l L–l

(1) 6

(2) 2

(3) 1.5

(4) 4
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Question ID : 15477154524

Ans. Official Answer NTA (4)

Sol.

5. A bullet of mass 200 g having initial kinetic energy 90 J is shot inside a long swimming pool as shown in the

figure. If it’s kinetic energy reduces to 40 J within 1 s, the minimum length of the pool, the bullet has to travel so

that it completely comes to rest is :

200 g nzO;eku dh ,d xksyh ftldh izkjfEHkd xfrt ÅtkZ dk eku 90 J gS] bldks ,d cMs rkykc esaa nkxk tkrk gS] tSlk

fd fp=k esa fn[kk;k x;k gSA 1 s esa bldh xfrt ÅtkZ ?kV dj 40 J gks tkrh gSA iw.kZr % foJke voLFkk esa vkus ls igys]

xksyh }kjk r; dh xbZ rkykc dh U;wure yEckbZ gksxh &

Water

Pool

(1) 45 m

(2) 90 m

(3) 125 m

(4) 25 m

Question ID : 15477154525

Ans. Official Answer NTA (1)

Sol.

6. Assume there are two identical simple pendulum clocks. Clock - 1 is placed on the earth and Clock - 2 is

palced on a space station located at a height h above the earth surface. Clock - 1 and Clock - 2 operate at time

periods 4 s and 6 s respectively. Then the value of h is :

(consider radius of earth R
E
 = 6400 km and g on earth 10 m/s2)

ekuk nks ,d leku ljy yksyd ?kfM+;k¡ gSaA ?kM+h & 1 i`Foh ds ry ij gS] ,oa ?kM+h & 2 fdlh Lisl LVs'ku (varfj{k dsUnz)

esa i`Foh ds ry ls h Å¡pkbZ ij j[kh gSA ?kM+h - 1 ,oa ?kM+h  - 2, 4 s ,oa 6 s ds vkorZ dkyksa ij fØ;kfUor gksrh gSA rks h dk

eku gksxk :

(ekuk i`Foh dh f=kT;k R
E
 = 6400 km ,oa i`Foh ij  g =10 m/s2)

(1) 1200 km

(2) 1600 km

(3) 3200 km

(4) 4800 km
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Question ID : 15477154526

Ans. Official Answer NTA (3)

Sol.

7. Consider a cylindrical tank of radius 1 m is filled with water. The top surface of water is at 15 m from the

bottom of the cylinder. There is a hole on the wall of cylinder at a height of 5 m from the bottom. A force of 5

× 105 N is applied an the top surface of water using a piston. The speed of ifflux from the hole will be :

(given atmospheric pressure P
A
 = 1.01 × 105 Pa, density of water


w
 = 1000 kg/m3 and gravitational acceleration g = 10 m/s2)

ekuk 1 m f=kT;k okyh csyukdkj Vadh ikuh ls Hkjh gSA ikuh dk Åijh ry] Vadh dh ryh ls 15 m dh Å¡pkbZ ij gSA ryh

ls 5 m dh Å¡pkbZ  ij] Vadh dh fnokj esaa ,d Nsn gSA fdlh fiLVu dh lgk;rk ls] ikuh ds Åijh ry ij 5 × 105 N dk

,d cy  vkjksfir fd;k tkrk gSA Nsn ls ckgj vkus okyh /kkjk dh xfr gksxh ________

(fn;k gS] okrkoj.k nkc P
A
 = 1.01 × 105 Pa, ikuh dk ?kuRo 

w
 = 1000 kg/m3 xq:Roh; Roj.k g = 10 m/s2)

5 × 10  N
5

15 m

10 m

5 m

(1) 11.6 m/s

(2) 10.8 m/s

(3) 17.8 m/s

(4) 14.4 m/s

Question ID : 15477154527

Ans. Official Answer NTA (3)

Sol.

8. A vessel contains 14 g of nitrogen gas at a temperature of 27°C. The amount of heat to be transferred to the gas

to double the r.m.s. speed of its molecules will be :

Take R = 8.32 J mol–1 k–1.

27°C rkieku ij fdlh crZu  es 14 g ukbVªkstu xSl j[kh gSA xSl ds v.kqvkas dh oxZ ek/; ewy pky dks nksxquk djus ds

fy, xSl dks LFkkukUrjhr dh tkus okyh vko';d Å"ek dh ek=kk gksxh

(R = 8.32 J mol–1 k–1 yhft,)
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(1) 2229 J

(2) 5616 J

(3) 9360 J

(4) 13,104 J

Question ID : 15477154528

Ans. Official Answer NTA (3)

Sol.

9. A slabe of dielectric constant K has the same cross-sectional area as the plates of a parallel plate capacitor and

thickness 
3

4
d, where d is the separation of the plates. The capacitance of the capacitor when the slab is

inserted between the plates will be :

(Given C
0
 = capacitance of capacitor with air as medium between plates)

K ijkoSn~;qrkad okys fdlh xqVds ds vuqizLFkdkV dk {ks=kQy] ,d lekukUrj ifê;ksa ds {ks=kQy ds cjkcj gS] ,oa mldh

eksVkbZ 3

4
d gS] tgk¡ d, la/kkfj=k dh ifê;ksa ds chp dh nwjh gSA tc xqVds dks la/kkfj=k dh IysVksa ds chp esaa j[kk tkrk gS rks

bldh /kkfjrk gksxh  :

(fn;k gS  C
0
 la/kkfj=k  dh izkjfEHkd /kkfjrk gSA)

(1) 
04KC

3 K

(2) 
03KC

3 K

(3) 
0

3 K

4KC



(4) 
K

4 K

Question ID : 15477154529

Ans. Official Answer NTA (1)

Sol.

10. A uniform electric field E = (8m/e) V/m is created between two parallel plates of length 1 m as shown in figure,

(where m = mass of electron and e = charge of speed of 2 m/s. The angle of the deviation () of the path of the

electron as it comes out of the field will be _______.
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1m yEch nks lekukUrj ifê;ksa ds chp  E = (8m/e) V/m eku dk ,dleku fo|qr {ks=k mRiUu fd;k tkrk gS] (tgk¡ m =

bysDVªkWu dk nzO;eku ,oa  e = bysDVªkWu dk vkos'k gS ) nksuksa ifê;ksa ds chp lefer :i ls ,d bysDVªkWu 2 m/s dh pky

ls izos'k djrk gSA tc ;g bysDVªkWu fo|qr {ks=k ls ckgj fudyrk gS] rks blds iFk esa gq, fo{ksi dk dks.k gksxk_______A

+ + + + + + + + +

– – – – – – – – –



1 m

2 m/s E

(1) tan–1 (4)

(2) tan–1 (2)

(3) 1 1
tan

3
  
 
 

(4) tan–1 (3)

Question ID : 154771545210

Ans. Official Answer NTA (2)

Sol.

11. Given below are two statements :

Statement I : A uniform wire of resistance 80  is cut info four equal parts. These parts are now connected in

parallel. The equivalent resistance of the combination will be 5 .

Statement II : Two resistances 2R and 3R are connected in parallel in a electric circuit. The value of thermal

energy development in 3R and 2R will be in the ratio 3 : 2.

In the light of the above statements, choose the most appropriate answer from the option given below :

(1) Both statement I and statement II are correct

(2) Both statement I and statement II are incorrect

(3) Statement I is correct but statement II are incorrect

(4) Statement I is incorrect but statement II are correct

uhps nks dFku fn, x, gS %

dFku & I : 80  izfrjks/k ds fdlh ,dleku rkj dks pkj cjkcj Hkkxksa esaa dkVk tkrk gSA vc bu Hkkxksa dks ik'oZ Øe esa

tksM fn;k tkrk gSA la;kstu dk rqY; izfrjks/k 5 gksxkA

dFku & II : fdlh fo|qr ifjiFk esa 2R ,oa 3R eku okys nks izfrjks/k ik'oZ Øe esa tqM+s gSaA 3R ,oa 2R esa mRiUUk gqbZ m"eh;

ÅtkZvksa dks vuqikr 3 : 2 gksxkA

Åij fn, x, dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa ls lokZf/kd mi;qä mÙkj pqfu,A
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(1) dFku & I ,oa dFku & II nksuksa lgh gSaA

(2) dFku & I ,oa dFku & II nksuksa xyr gSA

(3) dFku & I lgh gS] fdUrq dFku & II xyr gSA

(4) dFku & I xyr gS] fdUrq dFku & II lgh gSA

Question ID : 154771545211

Ans. Official Answer NTA (3)

Sol.

12. A triangular shaped wire carrying 10 A current is placed in a uniform magnetic field of 0.5 T, as shown in figure.

The magnetic force on segment CD is (Given BC = CD = BD = 5 cm.)

d, f=kHkqtkdkj rkj ftlesa 10 A eku dh /kkjk izokfgr gks jgh gS] bldks 0.5 T eku ds fdlh ,dleku pqEcdh; {ks=k esaa

j[kk tkrk gS] tSlk fd fp=k esa n'kkZ;k x;k gSA CD Hkkx ij vkjksfir pqEcdh; cy dk eku gSa %

(fn;k gS BC = CD = BD = 5 cm.)

5 cm

A B ED

C

Magnetic
field

5 cm

5 cm

(1) 0.126 N

(2) 0.312 N

(3) 0.216 N

(4) 0.245 N

Question ID : 154771545212

Ans. Official Answer NTA (3)

Sol.

13. The magnetic field at the centre of current carrying circular loop is B
1
. The magnetic field at a distance of 3

times radius of the given circular loop from the centre on its axis is B
2
. The value of B

1
/B

2
 will be:

fdlh /kkjkokgh o`Ùkkdkj NYys ds dsUnz ij pqEcdh; {ks=k dk eku B
1 
gSA fn, gq, o`Ùkkdkj NYys ds dsUnz sls blds v{k ij]

bldh f=kT;k ds 3  xquk nwjh ij pqEcdh; {ks=k dk eku B
2 
gSA B

1
/B

2
 dk eku gksxk %

(1) 9 : 4

(2) 12 : 5

(3) 8 : 1

(4) 5 : 3
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Question ID : 154771545213

Ans. Official Answer NTA (3)

Sol.

14. A transformer operating at primary voltage 8 kV and secondary voltage 160 V serves a load of 80 kW.

Assuming the transformer to be ideal with purely resistive load and working on unity power factor, the

loads in the primary and secondary circuit would be :

(1) 800  and 1.06 

(2) 10  and 500 

(3) 800  and 0.32 

(4) 1.06  and 500 

,d VªkalQkWjej 8 kV ds izkFkfed oksYVst ,oa  160 V ds f}rh;d oksYVst ij dk;Z dj jgk gS] ,oa 80 kW ds yksM  (Hkkj)

dks fØ;kfUor dj jgk gSA ekuk 'kw) izfrjks/kdh; yksM ds fy,] ;g VªkUlQkWjej vkn'kZ gS ,oa bdkbZ 'kfä xq.kkad ij

dk;Zjr gSA izkFkfed ,ao f}rh;d ifjiFk esa Hkkjksa dk Øe'k% eku gksxk A

(1) 800  vkSj 1.06 

(2) 10  vkSj 500 

(3) 800  vkSj 0.32 

(4) 1.06  vkSj 500 

Question ID : 154771545214

Ans. Official Answer NTA (3)

Sol.

15. Sun light falls normally on a surface of area 36 cm2 and exertes an average force of 7.2 × 10–9 N within a time

period of 20 minutes. Considering a case of complete absorption, the energy flux of incident light is :

lw;Z dk izdk'k] 36 cm2 {ks=kQy okys fdlh ry ij yEcor fxj jgk gS] tks fd 20 feuV ds le; vUrjky esa bl ij 7.2

× 10–9 N dk vkSlr cy vkjksfir djrk gSA ;fn iw.kZ vo'kks"k.k dh fLFkfr ekuh tk,] rks vkifrr izdk'k ds ÅtkZ ¶yDl

dk eku gksxk :

(1) 25.92 × 102 W/cm2

(2) 8.64 × 10–6 W/cm2

(3) 6.0 W/cm2

(4) 0.06 W/cm2

Question ID : 154771545215
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Ans. Official Answer NTA (4)

Sol.

16. The power of a lens (biconvex) is 1.25 m–1 in particular medium. Refractive index of the lens is 1.5 and radii of

curvature are 20 cm and 40 cm respectively. The refractive index of surrounding medium :

fdlh fuf'pr ek/;e esa f}mÙky ySal dh 'kfä 1.25 m–1 gSA ekuk ySal dk viorZukad 1.5 gS ,oa mlds oØksa dh f=kT;k,¡

Øe'k% 20 cm ,oa 40 cm gSA ifjos'k ek/;e dk vioRkZukad ifjdfyr dhft,A

(1) 1.0

(2) 
7

9

(3) 
3

2

(4) 
4

3

Question ID : 154771545216

Ans. Official Answer NTA (2)

Sol.

17. Two streams of photons, possessing energies equal to five and ten times the work function of metal are incident

on the metal surface successively. The ratio of maximum velocities of the photoelectron emitted, in the two

cases respectively :

QkWVksuksa dh nks /kkjk,¡] ftudh ÅtkZ,¡] /kkrq ds dk;ZQyu dh Øe'k%  ik¡p xquk ,oa nl xquk gSa] ml /kkrq ds ry ij vkifrr

gksrh gSaA nksuksa ifjfLFkfr;ksa esa Øe'k% mRlftZr gksus okys QksVks bysDVªkWuksa ds vf/kdre osxksa dk vuqikr gksxk :

(1) 1 : 2

(2) 1 : 3

(3) 2 : 3

(4) 3 : 2

Question ID : 154771545217

Ans. Official Answer NTA (3)

Sol.

18. A radioactive sample decays 
7

8
 times its original quantity in 15 minutes. The half-life of the sample is:
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dksbZ jsfM;kslfØ; uewuk] 15 feuV esa viuh okLrfod ek=kk dk 
7

8
 xquk {f;r gks tkrk gSA uewus dh v)kZ;q gksxh :

(1) 5 min

(2) 7.5 min

(3) 15 min

(4) 30 min

Question ID : 154771545218

Ans. Official Answer NTA (1)

Sol.

19. An n.p.n transistor with current gain  = 100 in common emitter configuration is shown in figure. The output

voltage of the amplifier will be :

fp=k esa n'kkZ;s vuqlkj] mHk;fu"V & mRltZd vfHkfoU;kl esa yxs fdlh  n-p-n VªkfUtLVj dh /kkjk yfC/k  = 100 gSA

izo/kZd dk fuxZr (vkmViqV) oksYVst gksxk

~

Vout

1 mV

C 10 k

1 k

(1) 0.1 V

(2) 1.0 V

(3) 10 V

(4) 100 V

Question ID : 154771545219

Ans. Official Answer NTA (2)

Sol.

20. A FM Broad cast transmitter, using modulation signal of frequency 20 kHz has a deviation ratio of 10. The

bandwidth required for transmission is :

20 kHz vko`fr ds ekaMyqd flXuy dks izsflr djus ds fy, iz;qä FM (vko`fÙk ekaMqyu) izlkj.k izs"kd dk fo{ksi vuqikr

10 gSA izs"k.k ds fy, vko';d cSaM pkSM+kbZ gksxh :

(1) 220 kHz

(2) 180 kHz

(3) 360 kHz

(4) 440 kHz

Question ID : 154771545220

Ans. Official Answer NTA (4)
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Sol.

21. A ball is thrown vertically upwards with a velocity of 19.6 ms–1 from the top of a tower. The ball strikes the

ground after 6 s. The height from the ground up to which the ball can rise will be k

5

 
 
 

m. The value of k is

____________. (use g = 9.8 m/s2)

fdlh ehukj ds f'k[kj ls] ,s xsan dks Å/okZ/kj Åij dh vkSj 19.6 ms–1 ds osx ls Qsadk tkrk gSA xsan /kjkry ij 6 s ds ckn

igq¡prh gSA /kjkry ls xsan }kjk r; dh xbZ vf/kdre Å¡pkbZ dk eku k

5

 
 
 

m gS] rks k dk eku gksxk____________A

(ekuk  g = 9.8 m/s2)

Question ID : 154771545221

Ans. Official Answer NTA (392)

Sol.

22. The distance of centre of mass from ends A of a one dimensional rod (AB) having mass density 
2

0 2

x
1

L

 
    

 

kg/m and length L (in meter) is 
3L


 m. The value of  is ____________.

(where x is the distance from end A)

 
2

0 2

x
1

L

 
    

 
 kg/m nzO;eku ?kUkRo ,oa L (ehVj esaa) yEckbZ okyh fdlh ,d foeh; NM (AB) dk nzO;eku dsUnz]

blds  (A) fljs ls 3L


 m dh nwjh ij gSA  dk eku ____________gSA

(tgk¡ x fljsA ls nwjh gS)

Question ID : 154771545222

Ans. Official Answer NTA (8)

Sol.

23. A string of area of cross-section 4 mm2 and length 0.5 m is connected with a rigid body of mass 2 kg. The body

is rotated in a vertical circular path of radius 0.5 m. The body acquires a speed of 5 m s at the bottom of the

circular path. Strain produced in the string when the body is at the bottom of the circle is __________ × 10–5.

(use young’s modulus 1011 N/m2 and g = 10 m/s2)
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4 mm2 vuqizLFk  dkV {ks=kQy vkSj 0.5 m yEckbZ okyh dksbZ jLlh] ,d 2 kg nzO;eku ds Bksl fi.M ls tqMh gqbZ gSA fi.M

dks fdlh f=kT;k 0.5 m f=kT;k okys m/okZ/kj o`Ùkkdkj iFk ij ?kqek;k tkrk gSA o`Ùkkdkj iFk ds fuEure fcanq ij] fi.M dh

pky 5 m/s gSA tc fi.M o`Ùkkdkj iFk ds fuEure fcUnq ij gS rks ml le; jLlh esa mRiUUk fod`fr dk eku________

× 10–5 gksxkA

(ekuk ;ax xq.kkad =1011 N/m2 ,oa g = 10 m/s2)

Question ID : 154771545223

Ans. Official Answer NTA (30)

Sol.

24. At a certain temperature, the degrees of freedom per molecule for gay is 8, The gas performs 150 J of work

when it expands under constant pressure. The amount of heat absorbed by the gas will be ____________ J.

fdlh fuf'pr rki ij] fdlh xSl ds v.kqvksa dh Lokra=; dksfV 8 gSA ;g xSl 150 J dk;Z djrh gS tc bldks fLFkj nkc

ij izlkfjr fd;k tkrk gSA xSl }kjk vo'kksf"kr Å"ek dh ek=kk____________ J gksxhA

Question ID : 154771545224

Ans. Official Answer NTA (750)

Sol.

25. The potential energy of a particle of mass 4 kg in motion along the x-axis is given by U = 4(1 – cos 4x)J. The

time period of the particle for small oscillation (sin   ) is 
K

 
 
 

 S. The value of K is ___________.

x – v{k ds vuqfn'k xfr djrs gq, 4 kg nzO;eku ds fdlh d.k dh fLFkfrt ÅtkZ fuEuor gS  U = 4(1 – cos 4x) J y?kq

nksyuksa (sin   ) ds fy, d.k dk vkorZ dky  
K

 
 
 

 S gSA

K dk eku gSA

Question ID : 154771545225

Ans. Official Answer NTA (2)

Sol.

26. An electrical bulb rated 220 V, 100 W, is connected in series with another bulb rated 220 V, 60 W. If the

voltage across combination is 220 V, the power consumed by the 100 W bulb will be about _________ .

220 V ,oa 100 W dk ,d fon~;qr cYc] 220 V ,oa 60 W okys fdlh nwljs cYc ds lkFk Js.kh Øe esa tqMk gSA ;fn

la;kstu ds fljksa ij oksYVst 220 V gS] rks 100 W okys cYc }kjk miHkksx dh xbZ 'kfä dk eku yxHkx_________ gSA

Question ID : 154771545226

Ans. Official Answer NTA (14)
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Sol.

27. For the given circuit the current through battery of 6 V just after closing the switch ‘S’ will be __________A.

fn, gq, ifjiFk esa] dqath 'S' dks can djus ds rqjar ckn 6 V okyh cSVªh }kjk izokfgr /kkjk dk eku ________ A gksxkA

2 

6 V

4 

2 H

S

2 

2 

Question ID : 154771545227

Ans. Official Answer NTA (1)

Sol.

28. An object ‘o’ is placed at a distance of 100 cm in front of a concave mirror of radius of curvature 200 cm as

shown in the figure. The object starts moving towards the mirror at a speed 2 cm/s. The position of the image

from the mirror after 10s will be at ____________ cm.

dksbZ oLrq  ‘o’ fdlh vory niZ.k ds le{k fp=k esa fn[kk, vuqlkj j[kh gS] ftlds oØ dh f=kT;k 200 cm gSA oLrq niZ.k

dh rjQ 2 cm/s dh pky ls pyuk 'kq: djrh gSA ;fn oLrq dh izkjfEHkd nwjh 100 cm gS] rks 10s ckn] izfrfcEc dh fLFkfr

niZ.k ls ____________ cm nwj gkxhA

o

Question ID : 154771545228

Ans. Official Answer NTA (400)

Sol.

29. In an experiment with a convex lens, The plot of the image distance (') against the object distance (')

measured from the focus gives a curve ' ' = 225. If all the distances are measured in cm, The magnitude of

the focal leusth of the lens is ____________ cm.

mÙky ySal ds ,d iz;ksx esa] Qksdl ls ekih xbZ izfrfcEc nwjh (') ,oa oLrq nwjh (') ds chp dk vfHkjs[k ,d oØ ' ' =

225 izkIr gksrk gSA ;fn lHkh nwfj;k¡ cm ek=kd esa ekih xbZ gSaA ySal dh Q+ksdy nwjh dk ifjek.k ____________ cm gSA

Question ID : 154771545229

Ans. Official Answer NTA (15)

Sol.
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30. In an experiment to find acceleration due to gravity (g) using simple pendulum, time period of 0.5 s is measured

from time of 100 oscillation with a watch of 1 s resolution. If measured value of length is 10 cm known to 1 mm

accuracy. The accuracy in the determination of g is found to be x %. The value of x is ____________.

ljy yksyd dk mi;ksx djrs gq,] xq:Roh; Roj.k (g) dks Kkr djus ds fy, fdlh iz;ksx esa] 1 lsd.M fjlksY;w'ku

(foHksnu dky) okyh ?kM+h ds 100 nksyuksa ds le; ls ekik x;k vkorZdky 0.5 s vkrk gSA ;fn ekih xbZ yEckbZ dk eku

10 cm gS ftlesa Kkr 'kqf) 1 mm gSA g ds ifjdfyr eku esa izkIr 'kq)rk x % gSA x dk eku ___________gSA

Question ID : 154771545230

Ans. Official Answer NTA (5)

Sol.


